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Question No. 1

SIFelall T dg TFdH &A1, ST aIeddH H&mT & I Tohd &, gl
A) 8 B) 2
C) 4 D) 6

The maximum number of electrons that can be accommodated in the outermost orbit is-

A) 8 B) 2
C) 4 D) 6
Answer Key : A Your Response : A (Correct)

Question No. 2

FSHII 39T 3cUool hlal & [T AT et arel gert & AT Sgl STdar g7
A) T gerd B) gue

C) W« D) &

What is the name given to the materials which are burnt to produce heat energy?

A) Biomaterials B) Fuels
C) Chemicals D) Gases
Answer Key : B Your Response : B (Correct)

Question No. 3

T oATd URT Hr G 7 v AfEa gt & 4 6 & a7 i g, AfFa s [Nig 9v dex 7 6
TS FT THAY ol &1 URT T a1l AR AT Sl H 1T AT ATl HT 91T FAT 872



A) 5:1 B) 4 :3

C)1:4 D) 1:5

A boat covers a certain distance downstream in 4 hours, but takes 6 hours to return to the
starting point. What is the ratio of speed of stream to the speed of the boat in still water?

A) 5:1 B) 4:3
C) 1:4 D) 1:5
Answer Key : D Your Response : A

Question No. 4

fAfaf@d Aol & ey dear A1 v

35, 46, 59, 74, (.), 110
A) 81 B) 83

C) 91 D) <87

Find the missing number in the following series.

35, 46, 59, 74, (...), 110

A) 81 B) 83
C) 9N D) 87
Answer Key : C Your Response : C (Correct)

Question No. 5

gfe '+ AR - F 3w FH sea eI ST 3R TEamsi 8 R 6 & T off seor few S, ar
farafaf@a A @ Fia a1 faweT w@gr gem?

A) 6-8-8+8=0 B) 12+ 8-6=2

C) 12 +6 -8 =10 D) 6-4+8-8=6



If '+' and '-' are interchanged and also the numbers 8 and 6 change places, which of the
following options is correct?

A) 6-8-8+8=0 B) 12+8-6=2
C) 12+6-8=10 D) 6-4+8-8=6
Answer Key : C Your Response : C (Correct)

Question No. 6

IRDP &T I0THIfaeh 389T T 87
A) F 3cdachar # I Fe & AT aeds B) SR S AL

TGN UGTeT leT|
C) e 3Mqfd Fo= & faw D) Imdvr SR & T 3™ e e
el AR NI sare eX ®o1 glaen gere
LT |

What is the strategic aim of IRDP?

A) To provide the required input for increasing B) < To reduce unemployment

agricultural productivity

C) To increase the food supply D) To provide more opportunities for rural
employment and credit facilities at

concessional rate of interest

Answer Key : D Your Response : D (Correct)

Question No. 7

Teh fAFgeies ardrator & $iiay gl arell T gelided Hoged-aiad 3Heed gl

A) Taffa aredfasdr B) $fE& gigecar
C) st 3ifw ey D) 3R arEdfdehdr

is an interactive computer-generated experience taking place within a simulated

environment.



A) Augmented reality B) Artificial intelligence
C) Internet of things D) Virtual reality

Answer Key : D Your Response : B (Wrong)

Question No. 8

thmﬁaa—«—rr?rmoﬁ?l’\f%soﬁaﬂ?laﬁmﬁ#zoa?gtr%,a’r%%ma?mﬁr¢ﬁv
AY HRT A A Hed T =T ST AIRT?

A) %.1.50 B) %.1.20

C) %.1 D) %.1.25

A fruit seller purchased 100 oranges for Rs.80. if 20 of them are rotten, then at what price
should he sell the rest of the oranges to have 25% profit per orange?

A) Rs.1.50 B) Rs.1.20
C) Rs.1 D) Rs.1.25
Answer Key : D Youf Response : C (Wrong)

Question No. 9

300 #HeX Il {EEMET TFH TATHIH FF 39 s H IR Fldl & S Ig Th TH & 18 Hs H
IR &Il &1 Tehid &I oars fohaer &7

A) 680 Frex B) 320 #ex
C) 350 #Hrex D) 650 #ex

A 300 m long train crosses a platform in 39 seconds while it crosses a single pole in 18
seconds. What is the length of the platform?

A) 680 m B) 320 m
C) 350 m D) 650 m
Answer Key : C Your Response : C (Correct)

Question No. 10




I8 DI § DI FE&AT AT Hriore fo 231228 & Sz W yeg F&Am 33 § e fFenfaa &
A) 3 B) 2

C) 4 D) 1

Find the least number to be added to 231228 to make it exactly divisible by 33.

A) 3 B) 2
C) 4 D) 1
Answer Key : A Your Response :'A (Correct)

Question No. 11

STt & T & HROT T ¢
A) aftes B) e
C) #Helferet D) Fufes

The colour of the hair is due to-

A) Peptin B) <Carotene
C) Melanin D) Keratin
Answer Key : C Your Response : D (Wrong)

Question No. 12

38 fSdeT &1 939 &, S Hpid J 97 Fed (?) & T W W@
I % foT wafeqdm 399+ @l

A) B)



b5
58

0) D) 59

59

Choose the alternative that best replaces the questio

given figure.
A
) 55
C f D
) . ) 52
ek
Answer Key : A Your Response : Not Answered

Question No. 13

sin 15° T AT AT hiTaAT|



A) B)

V2 NN
4
C) D)
BB 6+
7 4

Find the value of sin 15°.

A) B)
<
0 D)
B2 J6+2
2 <
Answer Key : A Your Response : Not Answered

Question No. 14

1930 3 HAgTcAT el F O®g 'S IrEr &1 JRST R
A) FHAF T GHA B) HHeId® JIchR

C) dHs W & o I D) RSl 9¥ 3R




Mahatma Gandhi organized 'Dandi March' in 1930 against the-
B) Communal Award

A) Repression of the Congress
D) Atrocities on Harijans

C) Imposition of tax on salt
Your Response : C (Correct)

Answer Key : C
Question No. 15

Rw e Rsredt 3 A AT B

A) 188 B) 199
C) 122 D) 100
Find the ODD one out from the given options.
A) 188 B) 199
C) 122 D) 100
Your Response : D (Wrong)

Answer Key : B
Question No. 16

B)

A)
33/109

38/109

D)

©)

109/38




1 59

921>

: : 3 11
Simplify: 1

1
3+ 3
A) B)
38/109 33/109
0 D)
109/38 i}
Answer Key : A Your Response: Not Answered

Question No. 17

T HTHTY H, 24631 &1 ATHAUT 'GREAT' ¥ & 3R 5897 &1 YT 'MONK' & g 3T FHesmr
H H&AT 84712 &1 AEUT 41 Flom?

A) ORKTG B) OGRTK

C) ORATG D) OGKAE

In a code language, 24631 stands for 'GREAT' and 5897 stands for 'MONK'. What does the
number 84712 stand for in the same code language?

A) ORKTG B) OGRTK
C) ORATG D) OGKAE
Answer Key : A Your Response : A (Correct)

Question No. 18




oft &1 gof

86, 67, 49, 33, 20, (..)
A) 13 B) 7

C) 9 D) 11

Complete the series.

86, 67, 49, 33, 20, (...)

A) 13 B) 7
C) 9 D) 11
Answer Key : D Your Response: D (Correct)

Question No. 19

TSaIFeifasT T 87
A) faafaa B) uler
C) wierafes D) {of& uerd

What is riboflavin?

A) Vitamin B) Plant
C) Antibiotic D) Colouring substance
Answer Key : A Your Response : A (Correct)

Question No. 20

FAT AfAaT Fl fhTdr e AT SATAT g2
A) ot B) Sharfsehr
C) =fAs =g D) gaffeor faameT




Carolus Linnaeus is regarded as the father of -

A) Embryology B) Palaeontology
C) Evolution D) Taxonomy
Answer Key : D Your Response : D (Correct)

Question No. 21

O ¥ g fFg afed & "gzare veaadq” ot &gr Jrar 82
A) K.M. S=rdrer B) P.T. 3W

C) Saifaslr Reer D) emsal 3Tsed

Which sports personality is also known as the 'Payyoli Express?"

A) K.M. Beenamol B) P.T. Usha
C) Jyotirmoyee Sikdar D) Shiny Abraham
Answer Key : B Your Response : C (Wrong)

Question No. 22

FARR H JAST Hca0d daeafa o Vdel & T od 3R Sart & 59 araEsht O g aran
&7

A) FBR B) o
C) e&afar v D) 31qreelf

With what material are the roofs and walls covered to avoid undesirable excessive
reverberation in auditorium?

A) Hard B) Translucent
C) Sound-absorbent D) Opaque
Answer Key : C Your Response : C (Correct)

Question No. 23




A 2019 # TWHR o 6 §F F 205 F5 9 A P&l o9 872
A) I d& B) & 3% #AgRISC
C) US§ =2l S D) ufead d&

Government has infused a capital of Rs.205 crore into which bank in March 20197

A) Union Bank B) Bank of Maharashtra
C) Punjab National Bank D) Axis Bank
Answer Key : B Your Response :.D

Question No. 24

fArafaf@a & @ i a1 gla arcgaa eafa 1 |8l 3t # $ere f§ar fedr 9w fger &
Aot & faT fSarse fonar aram 72

A) arafae B) R
C) Hes D) el

Which of the following musical instruments is designed to send sound in a particular direction
without spreading it in all directions?

A) Violin B) Guitar
C) Keyboard D) Trumpet
Answer Key : D Your Response : D (Correct)

Question No. 25

sin 480° - sin 60° + sin 780° + cos 120° T AT AT FIT=T]

A) B)



C) D)

Find the value of sin 480° - sin 60° + sin 780°+ cos 120°.

A) B)
341
1 &
9) D)
0 \,@ +1
2
Answer Key : B Your Response : C (Wrong)

Question No. 26

Ui & ATY-U1Y SRI & 899 & &7 & Feafaf@a & O Fgsr 39aer frar srar g2
A) AT B) wddlel
C) sgea D) o




Which of the following is used as a fuel in cars along with petrol?

A) Methane B) Ethanol
C) Butane D) Ethane
Answer Key : B Your Response : A (Wrong)

Question No. 27

A0 A qF @ IR 20 A wisfRe TS| 20 fRHT T & 41, 98 91¢ Hs 4N, IR FT T
aEfhe To= & ST R @ 910 g a31| 39 g5 fora foom 7 872

A) 3R B) ufea#d
C) giayor D) 9&

Ganesh cycled 20 km towards east. After reaching 20 km, he turned left, and after cycling
some distance again he turned left. In which direction is he facing now?

A) North B) West
C) South D) East
Answer Key : B Your Response : B (Correct)

Question No. 28

Iadel o & JHERMT g § Gl IO dlell Jehrer & fTor, 3uade & §ie
faerert

A) #ET BlHE 4 B) fear frdll faTeer &
C) #ATT 3787 & FHAKR D) Tshdl ohg &

A ray of light passing through the optical centre of a concave lens emerge after refraction will
be-

A) Through the principal focus B) Without any deviation
C) Parallel to the principal axis D) Through the centre of curvature

Answer Key : B Your Response : C (Wrong)



Question No. 29

F IFAEIOT F FROUT FEFAHT ART 3o gl &
A) 3T B) Fefae garet
C) =ATsglsid D) "Hewl

The carbonaceous demand occurs due to oxidation of-

A) Ammonia B) Organic matter
C) Nitrogen D) Sulphur
Answer Key : B Your Response : B (Correct)

Question No. 30

Ao, giar & wgl aRafda gar &2
A) Tar B) 3fe=arery

C) Ihd D) e

Where is ammonia is converted into urea?

A) Kidney B) Pancreas
C) Liver D) Stomach
Answer Key : C Your Response : C (Correct)

Question No. 31

mﬁqﬁwﬁaagaw&u&aiaﬁﬁawm%l
A) MOM B) GEOSAT

C) ASTROSAT D) SLV

is India's first dedicated multi wavelength space observatory.
A) MOM B) GEOSAT

C) ASTROSAT D) SLV



Answer Key : C Your Response : A (Wrong)

Question No. 32

& # e ffef@a # & &9 ar 3w #Algg &ar &2
A) fafes rFa B) 3ifearfors 3Fa
C) TR 31Fe D) ufafes 31Far

Which of the following acids is mainly present in vinegar?

A) Citric acid B) Oxalicacid
C) Tartaric acid D) Acetic acid
Answer Key : D Your Response : D (Correct)

Question No. 33

s

[K-E]_ —2 & gat & HHE A HIAC |

b) b

A) B)

0, -2a/b 0, 2a/b

& D)

a/b. b/a a/b, -a/b




a

a'_

Find the solution set of[x -E] = Sl 98
b) b
A) B)
0, -2a/b 0, 2a/b
C) D)
a/b, b/a a/b, -a/b
Answer Key : B Your Responses Not'/Answered

Question No. 34

Teh fARET Hesmr &, 'put ta nop' AT HA 'fruit is good’; 'nop ko tir' & HY 'tree is tall' AR
'put ho sop' & 37¥ 'eat good food' &1 FHT HEHAT H forafaf@d & & fraerr 3 ‘fruit' grem?
A) 373 39ITed B) pul

C) ta D) nop

In a certain code language, 'put ta nop' means 'fruit is good', 'nop ko tir' means 'tree is tall' and
'put ho sop' means 'eat good food'. Which of the following means 'fruit’ in that language?

A) Data inadequate B) pul
C) ta D) nop
Answer Key : C Your Response : C (Correct)

Question No. 35

I8 O HiaT I 3uHor AT $ir geg a1fq & FafRa wwar g2



A) HT Thek B) YHEHST
C) Q@ &dT D) sdsi &7

Which of these devices controls the heart rate of patients?

A) CAT scanner B) Pacemaker
C) Respirator D) ECG machine
Answer Key : B Your Response : B (Correct)

Question No. 36

3H WHTAT F ol S 36 & UTEUST ¥ T B
A (2, 3, 4,6, 9, 12) B) (2, 3, 4, 6, 9)
C) (2, 3,4, 6,9, 12, 18) D) (2, 3, 4, 6)

Pick out the set that forms the factors of 36.

A) (2,3,4,6,9,12) B) (2,3/4,6,9)
C) (2,3,4,6,9, 12, 18) D) (2,3, 4, 6)
Answer Key : C Your Response : C (Correct)

Question No. 37

Ifg 4 oIseh 3T 6 wsfhal fondl ® & 8 f&al & & ¥hd §, 3 3 &8s iR 7 «sfear, 10
et # 38 QU FX THhd §l TF dASH N UH TS T HA &TAAT FT IUIT AT HIiAC

A 1: 11 B) 5: 12

C) 11 : 1 D) 12 : 5

If 4 boys and 6 girls can do a work in 8 days, and 3 boys and 7 girls can finish the same in 10
days, find the ratio of capacities of a boy and a girl.

A) 1:11 B) 5:12

C) 11:1 D) 12:5



Answer Key : C Your Response : Not Answered

Question No. 38

If AT 3 '+ & B R IT R C A I X RIAR D AT HY A
9D9C11B21D21="7?

A) 50 B) 100

C) 120 D) 48

If 'A' means '+', 'B' means ', 'C' means 'x' and 'D' means '+',then99 D9 C11B21D21="7

A) 50 B) 100
C) 120 D) 48
Answer Key : C Your Response : C (Correct)

Question No. 39

HiT AT AsE AT U AT oY F Hafea A G T qOT F?

Sl @ H A ?
A) gfeRIe B) &
C) & D) «fFa

Which word will best complete the relationship given below?

Joule : Work :: Watt : ?

A) Resistance B) Pressure
C) Force D) Power
Answer Key : D Your Response : D (Correct)

Question No. 40

3/4, 5/8, 7/12, 15/16 =T 3iraa 71d FIfew]



A) 11/32 B) 139/192

C) 21/64 D) 135/64

Find the average of 3/4, 5/8, 7/12, 15/16.

A) 11/32 B) 139/192
C) 21/64 D) 135/64
Answer Key : B Your Response : B (Correct)

Question No. 41

©.2400 & HUT, HOT AT HI FATCT T .3264 I TR G JhAT ST ¢, sl $Hr 3afer 3R
ST &X 3Mifeheh §9 H SISR &1 WIEUROT AT HT G F4T &2

A) 5% B) 18%

C) 6% D) 10%

A loan of Rs.2400 is cleared with an amount of Rs.3264 at the end of the loan period, the
period in years and rate of interest being numerically equal. What is the rate of Simple

Interest?
A) 5% B) 18%
C) 6% D) 10%
Answer Key : C Your Response : C (Correct)

Question No. 42

WA FfeT: \(m+\/2? + /65 +4256

A) B)



0 D)

Simplify: \(1[} + \/2? +4J65 ++/256

A) B)
8 T
0 D)
4 6
Answer Key : C Your Response : C (Correct)

Question No. 43

50 HeX AE & & Sl 3 FHS FAS & & FeaTeR U-TIFH §| U-TIF 7 & i 56 I
& f3g @, So-Fawsr F MY F7 377ger Hor 60° AR 30° ¥l A9I-FaFH f I AT MfSw

A) 23.75 #rex B) 21.65 #ex
C) 22.50 Hex D) 18.65 #rexX



Two vertical lamp-posts of equal height are on either side of a road 50 m wide. At a point on
the road between the lamp-posts, the elevations of the tops of lamp-posts are 60° and 30°.
Find the height of the lamp-post.

A) 23.75m B) 21.65m
C) 22.50 m D) 18.65m
Answer Key : B Your Response : Not Answered

Question No. 44

u eaf ader i ngfed 200 s § 3N A aer B 2 e B ol aler A G Aa
$ifaw]

A) 400 FeIRFE B) 200 #Hc/Ahs
C) 80 Hex/A&Hs D) 100 #Hexdss

The frequency of a sound wave is 200 Hz and its wavelength is 2 m. What is the speed of the

sound wave?

A) 400 m/s B) 1200 m/s
C) 80 m/s D) 100 m/s
Answer Key : A Your Response : A (Correct)

Question No. 45

iU & eqesa 78 # Awfaf@a & & frwer avfer fFar amr 872

A) TG P Tollg TaEl TSl Aol Fr Isgafad B) Isgyfa Sl 3Tl QMiebadr
$r QT

C) Isgufa &1 ARURYE & IAPRI ARG H D) 99T HAF & TWHR & hadr iR Afaar &
SIES] IN H TSeUfd & HIId WA & Hded A
o

Which of the following is dealt in Article 78 of the Constitution?

A) B) Emergency powers of the President



President's power to send advisory

messages to the Parliament

C) President's power to get information from D) Prime Minister's duty regarding keeping the
the Council of Ministers President informed about the government's
decisions and policies

Answer Key : D Your Response : D (Correct)

Question No. 46

Arfef@a IR # eI ¥ 9 3R AT ffT v 92T &1 3ea¥ &

s Qred- Aoy, e, Y@, gder, 3, W, Rar 3R 3T ' uiEdd # 848 §, foad 9w ¥ qe
T TE LT HH H Th § 316 Fa odoh arell TS HiwAT <@l g1 3 T Scax fear Hr 3 He
fe gu &l

WM AeX B N HA W IS 1 Y@ R AT & o A ar sgfedd sod §1 U9 SR 30T gaer
Th-gEY & 9Tl A dod §1 fAar, A 3R 3@r & Forer 7 s5d sodr g1 el wafr o fawer d=w
arell $dT 9 el dodr &1 Is] 3T 3101, Gl §1 TR e Sl N G gl dod &1 T 3R IS
& 9T F Fad tF § AFT doar gl e FT F &% I (ThEH T H AET) doar § AR
ger el off T & arer A FEF S Bl

frrafaf@a & & #la, {we Fev arell FHf ¥ daar g2
A) #foT B) 31%0T

C) Y@r D) 3m

Read the following information carefully and answer the question given below.

Eight friends—Mani, Raju, Rekha, Harish, Abi, Ramu, Shiva and Arun sit in a row having chairs
numbered one to eight in ascending order from left to right. They all are facing north direction.

Rekha sits on the chair numbered six. There are exactly two persons between Rekha and
Mani. Raju and Arun always sit adjacent to each other. Shiva sits adjacent to neither Mani nor
Rekha. Abi never sits on a chair having an odd number on it. Neither Raju nor Arun sits on
chair numbered four. There is only one person between Ramu and Raju. Abi sits on the right



(not an immediate right) of Harish, and Harish never sits adjacent to Ramu.

Who among the following sits on a chair which is having an odd number on it?

A) Mani B) Arun
C) Rekha D) Abi
Answer Key : A Your Response : Not Answered

Question No. 47

gH U H, & HYl & ai¢ af fashy faw 7w g1 3o forsehy(sl) &I ==, S Tifeher €9/ HaER
39gFT &

CXIr

1) a3 #Aofoar gslh £l

2) T AT A gl

fors:

. F& FRAT 9afr

IIl. 5 Tair 737 T &

A) Fad fAshy || 39 B B) ae fasay | 3ugera g

C) a1 o faishy | a1 Il 3ugFa & D) faseny | 3R 1l 39geFa =t & 3ugF &

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) All fish are birds.



2) Some hens are fish.

Conclusion:
I. Some hens are birds.

Il. No bird is hen.
A) Only conclusion Il follows B) Only conclusion | follows
C) Either conclusion | or |l follows D) Both conclusions | and Il follow

Answer Key : B Your Response : B (Correct)

Question No. 48
TGHT O AT FAT 6T oAl S Hehelr?
A) FIif& TgAT W Tl g g B) Tg#r & &S a¥AsH Aol ¢ AR eafe fo=m
HIEIH & IAT oI5l L Fehll

C) IgHAT 9T HIS HTATST Adl I D) IgAT 9T ST alel 19T S8 &l S &
Why cannot sound be heard on the moon?
A) Because there is no water on the moon B) “Moon has no atmosphere and sound cannot

travel without a medium
C) No one makes sound on the moon D) People going to moon become deaf

Answer Key : B Your Response : B (Correct)

Question No. 49

1 a¥ & AT 8% HTEMRUT sIToT X F.16000 FT fAQer iR FHAWT 3@ & T 18% HTLRUT sITST
W GE A Fe G, Fel AT W 10% T AT 9o ghar g1 fovaer Hr 1§ For TR AT FL

A) %.20000 B) %.22000

C) %.20500 D) %.18000

An investment of Rs.16000 at 8% Simple Interest for 1 year and a second investment at 18%
Simple Interest for the same period together fetch a return of 10% on the total investment. Find
the total sum invested.



A) Rs.20000

C) Rs.20500

Answer Key : A

Aohr Fr qot Ay

2, 3, 6, 13, 28, (.)

B) Rs.22000

D) Rs.18000

Your Response : Not Answered

Question No. 50

A) 59 B) 51
C) 53 D) 55
Complete the series.

2,3,6,13, 28, (...)

A) 59 B) 51
C) 53 D) 55

Answer Key : A

Your Response : A (Correct)

Question No. 51

e & & forg ABT I "SI A" gl ST §?
A) geXETe 3R ehedEe B) feeer 3R wiigEre

C) #sg 3R qur

D) seTe® 3R AT

Which of the following cities are called the "Twin cities?'

A) Hyderabad and Secunderabad B) Delhi and Faridabad

C) Mumbai and Pune

Answer Key : A

D) Bengaluru and Mysuru

Your Response : A (Correct)

Question No. 52




TS 93 B & SIaRl ¥ €9 &F TR-IX WAdsT Hl FIAT Fgl AT ¢, ST gRumHsasy eafa i
P Sl T@elr &7

A) dIiMdT B) forar
C) dAlc D) ufawafar

What is the repeated reflection of sound from the walls of a big hall that results in persistence
of sound called?

A) Music B) Pitch
C) Note D) Reverberation
Answer Key : D Your Response : D (Correct)

Question No. 53

P 3t Q #r 3ftwd 3mg 24 a¥ §1 P, Q 3R R #r 307 3g 22 a¥ gl Ao a¥ & 3 31y
T AT AT FHifse]

A) 90 B) 3T 319ATed

C) 95 D) 87

Average age of P and Q is 24 years. Average age of P, Q and R is 22 years. Find the sum of
their ages in last year.

A) 90 B) Data not sufficient
C) 95 D) 87
Answer Key : B Your Response : B (Correct)

Question No. 54

Aohr Fr qot sy

19, 16, 21, 14, (.)

A) 23 B) 27



C) 21 D) 25

Complete the series.

19, 16, 21, 14, (...)

A) 23 B) 27
C) 21 D) 25
Answer Key : A Your Response : A (Correct)

Question No. 55

(- 3t - 4), (2 + 5t - 4), (2 - 1) FT A.F.9(HCF) F1a HI|
A) £ -1 B) t+ 1

C) t-1 D) 1

What is the HCF of (- 3t - 4), (2 + 5t - 4), (2 1)?

A) 2-1 B). t+ 1
C) t-1 D) 1
Answer Key : D Your Response : D (Correct)

Question No. 56

& 1§ s 3 et g 2



A) B)

48 44

© 31 D) 36

How many triangles are there in the given figure?

A) B)
48 44
C D
: 31 ) 36
Answer Key : B Your Response : D (Wrong)

Question No. 57

AYT # fohdsl Tehel Y AlS[g 810 872
A) BF B) R
C) @i d D) 9r=a

How many single bonds are present in methane?

A) Six B) Four



C) Seven D) Five

Answer Key : B Your Response : B (Correct)

Question No. 58

20 QAT TEUS doh Ut ¥ N T JolelhR eF H, DIE-BIE Mepr 3¢ e sirdr & 3iw g
FT TR 6.75 VAT ¢ IATar &1 IS a7 & BFear 12 @i § 3R def & Twar 27 &, ar srely a1
At fr B wra fAfew)

A) 3 T B) 1.5 &
C) 3.5 @ar D) 2.5 @1

Into a cylindrical tub containing water to a depth of 20 cm, tiny spherical balls are dropped and
the level of water rises by 6.75 cm. If the cylinder has a radius 12 cm and the number of balls
dropped is 27, then find the radius of the ball.

A) 3cm B) 1.5cm
C) 3.5cm D) 2.5cm
Answer Key : A Your:Response : Not Answered

Question No. 59

N a¥ 9@ AN Y F AT A A AT aF &g A WY F A A F g WA JAAH Y
red gl &1 A adAT g AT HIfST

A) 21 ay B) 15 ay
C) 18 aw D) 24 a¥

Thrice my age three years back subtracted from thrice my age three years hence gives my
age. How old am | now?

A) 21 years B) 15 years
C) 18 years D) 24 years
Answer Key : C Your Response : Not Answered

Question No. 60




ffaf@a SeaeRT &1 cas ¥ 96 3R A &u 1w 99 FT 3cax &

316 ff3- A, B, C, D, E, F, G 3R H, & Jea@R A1 & aRT AR &g 7 3R {5 & 83 §,
oiftheT ST 18T & €Y %A A 8l C, E & §I0 & WX TUF ) dar1 g1 A 3R G & &g Fad
A AT IS E AN GHAFS o C T Mpean gl 7@ &1 H, F & g & g ¥I9 W
YT &1 F, C &7 Adead g2l 181 &1 A, C & 9 ¥ Ay ¥ © o1 §1 D 31 B, Asean
JSRAT #gT g1 D, F & 910 ¥ e AT ) ST ¢

ffef@d #§ & &9 a1 safFd B & 918 31X UheH 9T H _doT 872
A) A B) C

C) H D). D

Read the following information carefully and answer the question given below.

Eight friends—A, B, C, D, E, F, G and H are sitting around a circular table and are facing the
centre, but not necessarily in the same order. C sits third to the left of E. Only two people sit
between A and G. Neither A nor G is an immediate neighbour of C. H sits second to the right of
F. F is not an immediate neighbour of C. A sits third to the left of C. D and B are not immediate
neighbours. D sits third to the left of F.

Which of the following persons sits to the immediate left of B?

A) A B) C
C) H D) D
Answer Key : C Your Response : Not Answered

Question No. 61

o9 T SIEAT T & Ths 1 GISSIFallNG el H @M AT &, af AT U= T
gl

A) FEe SS3HTFASS B) TSIt




C) grsgreid D) 3ifedaa

When a zinc metal piece is placed in hydrochloric acid, gas is evolved.
A) Carbon dioxide B) Nitrogen
C) Hydrogen D) Oxygen

Answer Key : C Your Response : C (Correct)

Question No. 62

e Aq g, ToweT g1 & & 3cures fFar o, Pefaf@d d @ e usw 7 ua 82
A) 9fegH ISe B) dmar

C) #FgRTSE D) HET weRm

In which of the following states is Atal Setu bridge located that was recently inaugurated?

A) West Bengal B) Goa
C) Maharashtra D) Madhya Pradesh
Answer Key : B Your Response : D (Wrong)

Question No. 63

FIAT HAT W UM HIA IT Felesh Hi agd W AMT T GG HH G907 A TWE § FACd
fohar ST Fehar 7

A) TN &% & OYOT e @ Sl § 3R B) ©¥UT, §HRAT oRIAT 0T gl &
?rﬁr%ﬁaaﬁrasrawagﬁmaam%l

C) u¥ur &I qff a¥@ & WA ¢ fhar ST D) ©vor & diferer & g fham o |k gl
"ehall &, Fifs Fo faaffaart s=h @i

Can friction be eliminated entirely by polishing surfaces or by using lots of lubricants?

A) Polishing makes friction nil and increases B) Friction occurs that is almost negligible

the moving object's velocity enormously

C) D) Friction can be made zero by polishing



Friction cannot be totally eliminated as there

will be some irregularities

Answer Key : C Your Response : A (Wrong)

Question No. 64

XA &
-10 + [20 + (22 x 5) - 5] x 8 - 2

A) 10 B) -16
C) 8 D) 18
Simplify:
-10+[20 + (22 x 5)-5]x 8 -2
A) 10 B) -16
C) 8 D) 18
Answer Key : D Your Respense : D (Correct)

Question No. 65

50 oficY Y€ QY dTel Tah &eald ¥, 10 offey g¥r fsrerat 10 efieX urell srem S &1 Ife 89
9fshdT 1 ofieT IR SIeIAT ST &, o 3dd: Wisil 3R gy & I &4 39T g7

A) 7 :16 B) 61 : 64

C) 9: 16 D) 1:4

From a container of 50 litres pure milk, 10 litres is taken out and replaced by 10 litres of water.
If this process is repeated thrice, what is the ratio of water to milk finally?

A) 7:16 B) 61: 64
C) 9:16 D) 1:4
Answer Key : B Your Response : Not Answered

Question No. 66




@ 91 foe & & 7 wenfaa war g7
A) diar(Nervous) o B) 9

C) aArauMT(Muscular) dF D) sarel(Skeletal) dF

Which of the following gets affected due to rickets?

A) Nervous system B) Eyes
C) Muscular system D) Skeletal system
Answer Key : D Your Response : D (Correct)

Question No. 67

Jitear gfaror B AR He Ik @ Fodr gl T g8 39+ 919 3R 135° W Aser ¢ 39 dg fhd
feem &1 JrHaAT X T@T &7

A) eferor gftes B) 3caR ufRere
C) 3cR qd D) aferor g

Gowtham is facing south and moves forward. He then turns 135° to his left. Which side is he

facing now?
A) South west B) North west
C) North east D) South east
Answer Key : C Your Response : C (Correct)

Question No. 68

P et & & 10 Al 3 o GFhaT ¥ 4 BT FIH ol & 915, P FIH o2 &ar ¢ 3 Q AW
I &I 9 el # QU HIAT 1 Fie 3plal YOI & Teh WY HA fhAT giar, a S QU il A
37g fohael foaT ot gid?

A) 6 f&a B) 9 &=
C) 8 &=t D) 7 feot




P can do a piece of work in 10 days. After working for 4 days, P leaves and Q finishes the
remaining work in 9 days. If they had worked together from the beginning, then how many days

would they take to complete the work?

A) 6 days B) 9 days
C) 8 days D) 7 days
Answer Key : A Your Response : Not Answered

Question No. 69

ffaf@a J & sl ar e 93 7Er 872
A) HFeAT Tl B)
C) e D) drqer

Which of the following is NOT a tree?

A) Money Plant B) Neem
C) Banyan D) Peepal
Answer Key : A Your Response : A (Correct)

Question No. 70

fafaf@a & & Fila @ 7R saEaR Geaf@a 'C @ sl & gidr 872
A) TE F @ B) drf&arard
C) 298« TIT D) Thdl

Which of the following diseases is mostly caused by the deficiency of Vitamin 'C'?

A) Kidney malfunction B) Rheumatism
C) Respiratory disease D) Scurvy
Answer Key : D Your Response : D (Correct)

Question No. 71




Julig(thrust) T S| ATIFH FAT §7?

A) =ggad HleT N m B) =gget 9fd eI N/ m
C) 9ri&hel Pa D) =geT N

What is the Sl unit of thrust?

A) Newton metre N m B) Newton per metre N/ m
C) Pascal Pa D) Newton N
Answer Key : D Your Response 2B (Wrong)

Question No. 72

{1-%]>¢[1_E]x[1-§]x ..... x{l-g] $T UTADH Al AT

A) B)

8/9 lfl+g+ +E]
9 9 9

9) D)

8/9° 0

. 2
Find the product of [1%%(1%}{1%} - X[I-ET

A) B)



8/9 1-[1+E+....+%]

0) D)

8/9° 0

Answer Key : D Your Response : B (Wrong)

Question No. 73

frrafaf@a & & sia a1 gl 2
A) giferas B) 3
C) #d= D) oidis

Which of the following is diatomic?

A) Helium B) Argon
C) Methane D) Fluorine
Answer Key : D Your Response : D (Correct)

Question No. 74

faega arT &1 v ¥aa 3R § Aet = FEaar g?
A) faegd aRay B) <@

N

C) Ay D) &mT

What is a continuous and closed path of an electric current called?

A) Electric circuit B) Loop



C) Mesh

Answer Key : A

fw arw fasedt & @ rdaTd A A

D) Path

Your Response : B (Wrong)

Question No. 75

A) 83 B) 21
C) 39 D) 51
Find the ODD one out from the given options.

A) 83 B) 21
C) 39 D) 51

Answer Key : A

Your Response : A (Correct)

Question No. 76

31 §TET &1 fARATOT AT 9X feRdr aram o
A) Fsum B) (e
C) dMeradr D) &er

Ukai Dam was constructed across the river

A) Krishna

C) Godavari

Answer Key : B

7 | Flead HT vk dReT FIfrer 872
A) NI
C) A&

B) Tapti
D) Narmada

Your Response : Not Answered

Question No. 77

B) faare

D) =il




Which of these is a nerve cell?

A) Orion B) Beon
C) Nucleus D) Neuron
Answer Key : D Your Response : D (Correct)

Question No. 78

'k' & fhd AT & foIw FAeOT kx(x - 2) + 6 = 0 & HA WA 87
A) 6 B) -2

C) 3, 2 D) 0, 6

For what values of 'k’ does the equation kx(x - 2) + 6 = 0 have equal roots?

A) 6 B) -2
C) 3,2 D) 0,6
Answer Key : A Your Response : Not Answered

Question No. 79

fArafaf@a Aot & Jgufeyd eR-aqg AT FIiST|

EZ, JU, (.), TK, YF
A) OP B) FH

C) IK D) SX

Find the missing group of alphabets in the following series.

EZ, JU, (...), TK, YF



Answer Key : A Your Response : A (Correct)

Question No. 80

Aol #r gt P

ABP, CDQ, EFR, (..)
A) HGS B) GHR

C) GHT D) GHS

Complete the series.

ABP, CDQ, EFR, (...)

A) HGS B) GHR
C) GHT D) GHS
Answer Key : D Your Responsc : D (Correct)

Question No. 81

gfe 480 &T 75% + 540 T x% = 603 §, o 'X & AT AT HIfAT]
A) 35 B) 65

C) 45 D) 55

If 75% of 480 + x% of 540 = 603, then find the value of 'x'.

A) 35 B) 65
C) 45 D) 55
Answer Key : C Your Response : C (Correct)

Question No. 82

a&AT afsar fFe @ @ Tefaa g2
A) HFhTSN B) faw



C) Hedre D) grehT

With which sport is Laxmi Padiya associated?

A) Boxing B) Tennis
C) Football D) Hockey
Answer Key : A Your Response : C (W

Question No. 83

24 739 T S T foT F 8 € FH FE 10 HAT A QU X T & TF GT 7 10 ©e
I ek, D H 6 &l H QU A & AT el Toi T Jaedehar gei?

A) 34 B). 36

C) 32 D) 30

24 men working 8 hours a day can finish a work in 10 days. Working 10 hours a day, how many
men are required to finish the work in 6 days?

A) 34 B) 36
C) 32 D) 30
Answer Key : C Your Response : C (Correct)

Question No. 84

SAH ¥ Pl T R 94T HAl HAG FT TTHAT sTal haT?
A) ARRST A8 B) ardr. &g
C) TGATT D) wor &g

Which of these Indian Prime Ministers did NOT face the parliament?
A) Morarji Desai B) V.P. Singh
C) Chandrasekhar D) Charan Singh

Answer Key : D Your Response : C (Wrong)



Question No. 85

3™ Hpia & 994 &, & Heafa@a 4t & @9 & gew #@
'{l‘:l‘[ﬁlﬂ'ﬁlﬂ'ﬁ'ﬁﬁ?—l‘ﬁ?ﬁ'iﬂ'l
9f8e, FR, FEAAL, JEA

A)

0)

Choose the figure that best rej
classes given below.

Pencil, Car, Stationery. Vehicle

A)

®)

Answer Key : B Your Response : B (Correct)



Question No. 86

T arvaefier e A 3EF R-arsaefid e § quadpd & & fov Ffafaa & @ 5o
fafer &1 3ugmer forar arar 872

A) fagor B) arsdieor
C) fedes D) Hge

Which of the following methods is used to separate the volatile component from its non-volatile

solute?
A) Diffusion B) Evaporation
C) Filtration D) Condensation
Answer Key : B Your Response : B (Correct)

Question No. 87

‘el ART & T AT T il g2
A) IR B) 3ifsar
C) whellch D) (HERT*E

'Dhokla’ is a delicacy of which state of India?

A) Gujarat B) Odisha
C) Karnataka D) Maharashtra
Answer Key : A Your Response : A (Correct)

Question No. 88

Ife forelt Toagels & Mot 5: 4 & 3gurd & €, O gFagss & &% IR 3% el &
IUTAhel T HAITT AT HIfST

A) 4 : 1 B) 2: 1

C) 1:2 D) 1:4




If the diagonals of a rhombus are in the ratio 5 : 4, then what is the ratio of the area of the
rhombus to the product of the diagonals?

A) 4:1 B) 2:1
C) 1:2 D) 1:4
Answer Key : C Your Response : C (Correct)

Question No. 89

TdATT Y 443 K 9T Tig HoSO4 & TTY ITH e W gred gidr &
A) e B) Sl
C) st D) #Hoe

On heating ethanol with concentrated HoSO4 at 443 K gives-

A) Ethane B) Ethene
C) Ethyne D) Methane
Answer Key : B Your Response : A (Wrong)

Question No. 90

36/75, 48/50 31X 72/30 &1 A.H.9(HCF) FTd HforT|
A) 144/45 B) 12/75

C) 144/150 D) 12/150

Find the HCF of 36/75, 48/50 and 72/30.

A) 144/45 B) 12/75
C) 144/150 D) 12/150
Answer Key : D Your Response : D (Correct)

Question No. 91

fAefaf@d # @ *la @ aiq FAY & AT | T 872



A) FHforras B) 9RT

C) urefrms D) afzaH

Which of the following metals is liquid at room temperature?

A) Calcium B) Mercury
C) Potassium D) Sodium
Answer Key : B Your Response : B (Correct)

Question No. 92

Ryw e Rsredt 3 & IaTT
A) GJL B) MPS

C) ADG D) NQT

Find the ODD one out from the given options.

A) GJL B) MPS
C) ADG D) ‘NQT
Answer Key : A Your Response : A (Correct)

Question No. 93

Aefaf@a # & &9 a1 Foma § a1 gIar g2
A) &id B) I&d

C) TaTeAr D) e

Which of the following is made of calcium?
A) Teeth B) Blood

C) Plasma D) Bile

Answer Key : A Your Response : A (Correct)



Question No. 94

farafaf@a & & =l @1 R e av G a1 gafeqam 1 @ ot Hem?

ZYX : PQR :: XYZ : ?
A) RQP B) QRP

C) YzX D) PRQ

Which of the following will best complete the relationship given below?

ZYX:PQR :: XYZ:?

A) RQP B) QRP
C) YZX D) PRQ
Answer Key : A Your Response : A (Correct)

Question No. 95

Teh e #H 'INDIGENCE' &I 'DNIEGIECN! fo@r Jrar g1 387 fesst # 'INDIRECTS' &
g yerR fo@r Sreem?

A) DNIERISTC B) DNIESIRTC

C) DNIIRESTC D) DNREIISTC

In a code language, 'INDIGENCE' is coded as 'DNIEGIECN'. How can 'INDIRECTS' be coded
in that language?

A) DNIERISTC B) DNIESIRTC
C) DNIIRESTC D) DNREISTC
Answer Key : A Your Response : A (Correct)

Question No. 96




1982 # TfATg @el & ASEEN fFa M@ F f?
A) A=As B) alelehdl
C) S D) o5 feoelr

Which city hosted the Asian Games in 19827

A) Chennai B) Kolkata
C) Mumbai D) New Delhi
Answer Key : D Your Response : Not Answered

Question No. 97

FAT BT § I Teh WAl H Teh 3oy Ao 3R e o feae 1 Aemr srar g2

(i) faerae &1 aM9#AT §¢ ST gl
(i) Ter s &1 ar9AT FA 8 AT gl
(iii) fae e T ATIHAT FATT TET &

(iv) oIaoT 1 HATOT gar gl
A) (i) 3R (iv) B) ad (i)
C) (i) 3 (iv) D) (iii) 3R (iv)

What happens when a solution of an acid is mixed with a solution of a base in a test tube?

(i) The temperature of the solution increases.

(ii) The temperature of the solution decreases.

(iii) The temperature of the solution remains the same.

(iv) Salt formation takes place.



A) (i) and (iv) B) Only (i)
C) (i) and (iv) D) (iii) and (iv)

Answer Key : A Your Response : A (Correct)

Question No. 98

?mﬁwﬁﬁﬁﬁmgﬁ,ﬁ;ﬁ?}ﬁrmﬁaﬁﬁwm
|

CL),

X
L)

¢ m

Choose from the alternatives the figure that best completes the
pattern given below.

CL),

X
L)




A) B)

B <

@) D)

Q Q

Answer Key : C Your Response.: C (Correct)

Question No. 99

21 A BsAr AR 90 @A SIS AT TH U & URY F dTed Fh-gSS FI AAB Al HfAT
A) 11880 ast = B) 12880 oo {#Y
C) 11480 @31 q+ D) 10880 @ =T

A metal pipe of radius 21 cm and length 90 cm has an outer curved surface area:

A) 11880 cm? B) 12880 cm?
C) 11480 cm? D) 10880 cm?
Answer Key : A Your Response : Not Answered

Question No. 100

maﬁx.smﬁaaﬁrw,wwcm’raﬁm%@raﬁrgélaﬁ%aﬁﬁwWS%m
e &, o 3TH [T qea fhaar g aifge?

A) ®.570 B) %.600

C) %.1080 D) 2.550

By selling goods at Rs.540, a trader incurred 10% loss. If he wants to minimise the loss to 5%,
what should be his selling price?

A) Rs.570 B) Rs.600

C) Rs.1080 D) Rs.550
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